Possessive case 

Задание. 
Проанализируйте использование притяжательного падежа (‘s) в данном фрагменте и исправьте ошибки. 

Today, reducing production processes’ environmental burden is becoming a key trend in the global economy’s development, along with the prospect of controlling the carbon footprint as a factor determining the market leaders’ adaptation in energy-intensive industries. For Russia’s exporters, the main action areas for reducing the transboundary carbon regulation’s negative economic effect include the following [1]:
· Development and implementation of mechanisms, systems and standards for measuring and reporting on the company’s carbon footprint;
· Changes to technologies and production methods aimed at reducing the company’s carbon footprint;
· Participation in the regulatory framework’s formation for setting carbon prices.



